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Q1. Consider the four transactions T1, T2, T3, T4 and the schedules S given below. 

(3 marks) 

 

T1: w1(A); w1(B) 

T2: r2(A); r2(C); w2(D) 

T3: r3(B); w3(E) 

T4: r4(D), w4(E) 

S: w1(A), r2(A), w1(B), r2(C), r3(B), w2(D), w3(E), r4(D), w4(E) 

 

a. Draw the serializibility (precedence) graph for S  

b. If S is serializible, write down the equivalent serial schedule(s). 

Answer:  

1.a 

 



- It is serializible as it has no cycle 

1.b  

The equivalent serial schedules are: 

  T1  T2  T3  T4  

T1  T3  T2  T4 

 

 

 

Q2. What is Partitioning? Why we use it? Discuss its types with examples. 

(2marks) 

Horizontal partitioning  involves putting different rows into different tables. Perhaps customers 

with ZIP codes less than 50000 are stored in CustomersEast, while customers with ZIP codes 

greater than or equal to 50000 are stored in CustomersWest. The two partition tables are then 

CustomersEast and CustomersWest, while a view with a union might be created over both of them 

to provide a complete view of all customers. 

Vertical partitioning involves creating tables with fewer columns and using additional tables to 

store the remaining columns. Normalization also involves this splitting of columns across tables, 

but vertical partitioning goes beyond that and partitions columns even when already normalized.  

 

 

https://en.wikipedia.org/wiki/ZIP_code
https://en.wikipedia.org/wiki/View_(database)
https://en.wikipedia.org/wiki/Database_normalization

